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Note : Four possible answers A, B, C and D to each question.are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

The order of variables of two separate terms is not i dnuf.’fdn/’%f}duﬂ'fd{}uluit? ————

important in ----
Associative law

(V) Jslewr) 024 JHRA—Yy il fpp
PAPER CODE =5837 A7) 1 gy
(/i) e 15

Commutative law  Jl2/96 (B)
Identity law /96 33310~ (D)

Which of the following is not a characteristic of good password :

(IEIIE (A)
Distributive law i /56 (C)

L e S EISude Ut ST

Does not contain user name n;;};j;(i/}g (B) s eight character long ;L“)"{J}/’b" T (A)

Password is your name ~ #({ 1 Tb)u’g (D)  Contain upper case letter nd}j{.}:i(.,‘/. (C)

element is a container for metadata : : ‘LL}CLE} Grox i%.l

< html > (D) < Title > (C) < head >

1z T
: t‘ﬁi‘,/g)gﬁi_.«'}?:/»/'z;Vﬁ&/ﬁﬂ@@g}&&k&({__

S (B)

Runtime error /¢t (D)

(B) < body > (A)

P~

L—

Due to ---- error, the solution is working but not
giving correct result :
Random error

Syntax error 4/ oS (C)

Az (A
Logical error 2% (A)

- is a symbol of start and end in flow chart:

(D) —l©

; :_.szJ(C’imUQTL_aAgﬁ_--
C_)(B) —> A

An example of volatile / primary memory is - :
cD $35 (D) RAM (£, (C)

Dl e J@Jdﬂi’d/’{ / J/L‘Uu
USB J-ul-1 (B) Hard Disk 334 (A)

There are - of headings in HTML :

1 (D) 6 (C)

e kil —me S BHTML
5 (B) 4 (A)

- used method of encryption for sending
message to his Soldiers and Generals :

Hacker (D) Caesar (C)

AV~ S

AT 2 SR TN

vigenere (B) Cipher (A)

DHCP stands for
Dynamic Host Computer Protocol  (B)
Double Host Computer Protocols (D)

. ¢ APE.-.- DHCP
‘
Data Host Computer Protocol (A)
Dynamic Host Configuration Protocol (C)

9

To home user internet service is given by -
isP (D)

HTTP (C)

e St

sSMTP (B) FTP (A)
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0457 <p > This s < br > a paragraph </ P> (Vi)

8 2. Write short answers to any Four (4) questions :
(i) Describe "Divide and Conquer" strategy.
(i) Define the verification.
(i) Draw four flowchart symbols.
(iv) Give example of "wrong data format™.
(v) Explain the head section in web page.

(vi) Write the output of <P > Thisis <br>a

aph </P >. . . ol . “'£~Ulr(4)/"='é’('3
-paragr ’ swers to any Four (4) questions : ;o =2 L p? :
8 3. Write shortan ~éuy&5ﬂj@¢y (i)

(i) Write the importance of encryption. ELabbletre (i)
(i) Explain cipher text. '
(ﬁf&)’)
L‘ '\ r b 13
(2)
3. (iii) Explain number system. -é@?b)({(w?d,w (iiiy -3
(iv) How do you describe "Remainder"? -guu;J"Remainder“ (iv)
(V) Define computer memory. fe. &nkf d/f:f{%:f (v)
(vi) Narrate ASCII code. _EEeoyds ASCH (Vi)
8 4. Write short answers to any Four (4 questions : o eli2 A7 L ey (4) /b < Jf -4
¢ - ¢
(i) HTTP stands for? ‘e B HTTP ()
. 2 [ p 2k O o
(ii) Write down the use of communication system. -&@fdhﬂ*"(ﬂgj"%{ ii)
(i) Reproduce file sharing. -éuy.uﬁ};wlgf/jf'ifﬁ (iii)
(iv) Define multi point connection. Jéf..yf&f@ig&" (iv)
(V) Write down the method of applying background ,ﬁ/.'éj}’fé,éj/g}ﬂ/;gfé’%: (v)
colours to a web page.
(Vi) Why anchor is used in web page? T WJWU}.J.//@U:@%} (vi)
( PART-1II (90 2 )
Note : Attempt any Two questions. -é AT 4 Loy »e J/ Py

8 5. How can you measure the efficiency of e szl 5L Ji ?@ié(gé/dﬂfKJgﬁ?T <8

algorithm? Explain with example.

22,22 6. Explain the components of communication system. ~2§yu;uc12’£(£/ffg;{ -6
8 7. Write down the characteristics of good password. &y el S inulE L7
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Note : Four possible answers A, B, C agld D to "each question are given. The choice which you

think is correct, fill that circle in fro
Cutting or filling two or more circle

of that question with Marker or Pen ink in the answer book.
s will result in zero mark in that question.

» ey I
Every data packet has an - address : : ‘abyzgﬂ»gl S uﬁ AAREE |
P 347 (D) Real 2 (G) . Gommon rl (B) Virtual J1> #A)

To save the HTML page, we can use - as file
extension :

xhtm! (D)

Both A and B/ B .s/AU#s (C)

LA sl ﬁzgé_/'l:ﬁ"f&i-ﬂﬁ’ L]
html (B) htm ;(A)

----- is not example of non-volatile memory :

Hard drive ¥/} 3/ (D) RAM £, (C) Me

L e S Smt Femoit |3

mory card 3,62 (B) Flash drive Ufub’ﬁ (A)

Which is not a cyber crime :

Phishing crime #./_(% (B)

e AL |4

Hacking L (A)

Decyption o243 (D) Identity theft ({22 J=s3 2 (C)
(dk})})
(<) — = |
) \® . 2 . o 151
Efficiency of an algorithm is measured on the basis of ---- metrics . ‘Luﬁ lgpil.a{u;}!.;t —_— /CKJf{
six # (D) Five &, (C) Four /& (B) Two » (A)

Routers connect multiple ---- together :

Places uy;é (D) People u:@ ©)

1 ujf_ll'uﬁg}’-f/ e L\ T |6
Networks Ji)».bj (B)  Softwares Jzs23L (A)

display values :

Goto ¢/ (D) Start 2t (C)

In formation 'of an algorithm, which symbol is used to

e QS sl S Bt JES A | 7

Output 257 (B) Input Ec)! (A)

----- tag is used to display data in tabular form :

; ‘4.tndw!4’_.£i—w§uffffva§ -

<th> (D) <tr> (C) < table > (B) <td> (A)
The foundation of all security system is formed on which principles : i ‘4,( by u)’/'ac):glgd/gf‘di’ W(V o]
Ethical 36! (D)  Complex s4% (C) Simple »l- (B) Logical ({\)/(
. 3 '““ o i
Expression (A+B) . (A+C) is equal to - : - 4"_(})7/.1/.4: ——- (A+B) . (A+C) *&*1{10
A + (B+C) (D) A.(B.C) (C) AB+AC (B) A+ (B.C) (A)
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8 2. Write short answers to any Four (4) questions :
(i) What do you know about -5W's? g BT
(i) Define boundary test data. . &t q

(iii) Explain the technique of prototype.

(iv) How we define a problem? F W

(v) Differentiate between anghor and hyper link. \ —

(vi) Describe the purpase of <i>and <b > tags.
8 3. Write short answers to any Four (4) questions :
(i) Describe binary number system.
(i) Define NOT operator.
(i'&/})
)

3. (iii) What is meant by truth values?

(iv) Differentiate between volatile and non-volatile memory.

(v) Explain data privacy.
(vi) What is meant by trade secret?
8 4. Write short answers to any Four (4) questions :
(i) Describe internet briefly.
(i) Which protocol is used to transfer files?
(iii) Narrate the working of web browser.

(iv) In a client server model is client software or
hardware?

(v) Write a tag to make text italic.

(vi) Define hyper link.

Note : Attempt any Two qugstions.

2,6 5. Define an algorithm and argue on its
' role and importance in problem solving.

.8 6. Explain the understanding IP addressing.

2222 7. Write down the characteristics of a good password.
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